VCE & PDF https://www.passapply.com/304-150.html
2024 Latest passapply 304-150 PDF and VCE dumps Download

PassApply.com

304-15095AS

LPI Level 3 Exam 304, Senior Level Linux Certification, Virtualization &
High Availability

Pass Lpi 304-150 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/304-150.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Lpi Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

304-150 VCE Dumps | 304-150 Study Guide | 304-150 Braindumps 1/3


https://www.passapply.com/304-150.html
https://www.passapply.com/304-150.html
https://www.passapply.com/304-150.html

VCE & PDF https://lwww.passapply.com/304-150.htm|
2024 Latest passapply 304-150 PDF and VCE dumps Download
PassApply.com

QUESTION 1

With HAProxy, which one of the following ACLs can match requests made to the domain example.org?
A. acl acl_example hdr_sub(Host) example.org

B. acl acl_example url_domain example.org

C. acl acl_example hdr_sub(Domain) example.org

D. acl acl_example url_host example.org

Correct Answer: A

QUESTION 2

What command in Red Hat Cluster Suite is used to display the status of the cluster; such as membership information,
quorum view, and the state of all configured user services?

A. clustat

B. cman
C.rhcs

D. ccs_status

Correct Answer: A

QUESTION 3

Why does this virtual machine NOT boot?

kvm drive file=sd

A. img,if=scsi m 128

B. KVM cannot be started on the command line.

C. The boot=0n parameter is missing in the drive definition.
D. KVM does not use the drive option; it uses hda instead.
E. It is missing a cdrom

Correct Answer: B

QUESTION 4
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Which of the following configuration settings specify that keepalived is to use the round robin algorithm?
A.lb_mode rr

B. Ib_algo rr

C. loadbalancer_mode=rr

D. algorithm=round robin

E. Ib_algorithm=rr

Correct Answer: B

QUESTION 5

In Red Hat Cluster Suite, which one of the following commands shows the right syntax for fencing the node on port 3
using the APC rack PDU device which can be found at IP address 192.168.1.145?

A. apc_stonith a 192.168.1.145 | apc n 3 v o shutdown r now

B. fence_apc a 192.168.1.145 | apc p apc n 3 v o shutdown r now
C. fence_apc a 192.168.1.145 | apc p apc n 3 v o reboot

D. apc_stonith a 192.168.1.145 | apc p apc n 3 v o reboot

Correct Answer: C
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